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BRAINWARE UNIVERSITY

Term End Examination 2023
Programme — B.A. LL.B.-2022
Course Name - Sociology I
Course Code - BALLB202
( Semester 11)

Full Marks : 60

Time : 2:30 Hours

[The figure in the margin indicates full marks. Candidates are required to give their answers in their own
words as far as practicable.]

Group-A

(Multiple Choice Type Question)
1. Choose the correct alternative from the following :

1x15=15

(i) Find out of the following are facing inequalities due to marginalisation

a) Dalits
c) Adivasis

(i) Identify the first woman Speaker of Lok Sabha

a) Laxmi Devi
c) Meira kumari

b) Women
d) All of them

b) Pratibha Patil
d) Shanno Devi

(iii) Identify the meaning of Unity in Diversity from a sociological point of view

a) People of different religions are united
c) People speaking different languages are
united
(iv) ldentify the first woman Advocate
a) Aishwarya Rai
c) Leila Seth

(v) Identify the first woman Central Minister of India

a) Rajkumari Amrit Kaur
c) Laxmi Bai
(vi) Choose the Primary task of the Kshatriyas is
a) Scavenging
c) Priesthood
(vii) Select the Full form of OBC

a) Optional Backward Caste
c) Other Backward class

b) People of different regions are united

d) All the these

b) Cornelia Sarabjit
d) Fatima Bebi

b) Razia Sultan
d) Indira Gandhi

b) Learning
d) Warrior

b) Operational Backward Class
d) Other Backward Caste
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(viii) Recall the right option when the jajmani system is based upon the teachings of the

a) Christian Faith b) Hindu FAith
c) Islamist Faith d) Buddhist Faith

(ix) Match the right option after the year 1853, a substantial amount of British capital had
been invested in

a) Tea Plantations b) The Railways
c¢) Coal Mining d) Jute Mills

(x) Choose the most appropriate option that represents the industrialization process in India
during the colonial period.

a) Sanskritization b) Modernization
c) Development d) Westernization

(xi) Select the most appropriate option that represents the industrialization process in India
during the colonial period.

a) b) There was a sudden movement of workers to
the new industries in the initial period of

industrialization.

The initial impact of industrialization led to
more people moving into agriculture.

¢) Industrialization took place in India in the d) The colonial policies favoured native tea
same way as it happened in the West planters.
(xii) Identify the concept that does not agree with Sanskritization
a) Cultural Imitation b) Self Consciousness
c) Modernization d) Reference model
(xiii) Select the option which is considered as Father of Modern Indian Renaissance
a) BR Ambedkar b) Jyotiba Phule
c) Raja Raja Ram Mohan Roy d) Mahatma Gandhi

(xiv) Assess the right option where Westernization in India introduced the concept of
which had a great influence on equal rights for all Indians.

a) Humanism b) Fraternity
c) Feudalism d) Egalitarianism
(xv) Identify the Act is important for Adivasis
a) Act, 1989 b) Act, 1990
c) Act 1991 d) Act 1996
Group-B
(Short Answer Type Questions) 3 x5=15
2. Examine the disadvantages of a joint family (3)
3. Observe the two causes of caste conflict in India (3)
4. Examine the role of Swami Vivekananda in the context of the Social Reforms movement in (3)
India.
5. Describe the factors of Sanskritization in sociology (3)
6. Assess the social factors that contribute to gender inequality in India (3)
OR
Review the need of joint family from a Sociological point of view (3)
Group-C
(Long Answer Type Questions) 5x6=30
7. Examine the problems faced by Indian Tribe (5)
8. Examine Gandhi’s arguments towards eradication of untouchability . (5)
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10.

11.
12.

Define the Self - sufficient village Community.
Evaluate the socio-economic impacts of the commercialization of agriculture during British
rule in India.
Explain some important factors of Dalit subjugation and oppression in India.
Examine the Role of Industrialization in Indian Society
OR
Describe the social condition of Indian Women in Pre-British Society
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